Priorité des Opérations (A)

Name: Date:

Effectuez chaque expression a 'aide de I'ordre correct des opérations.

2x5-749 2x(5+10—8)
9x4-3+8 94+8x7—4
5x(4+9-3) (5-3+7)x6
(9+2-8)x7 8x9+4-5
44+6x9—7 (3+8-9)x7
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Priorité des Opérations (A) Réponses

Name: Date:

Effectuez chaque expression a 'aide de I'ordre correct des opérations.

2x5-749 2% (5+10—8)
=10-7+9 =2x(15-8)
=3+9 =2x7

=12 =14
9x4—-3+8 9+8x7—4
=36-3+8 =9+56—-4
=33+8 =65—-4

=41 =61

5% (449 -3) (5-3+7)x6
—5x (13- 3) —(217)%6
=5x 10 =9x6

=50 =54
(9+2—-8)x7 8x9+4—5
—(11-8)x7 =72+4-5
=3 x7 =76 -5

=21 =71
4+6x9-7 (3+8—-9)x7
—44+54—7 —(11-9)x 7
=58-7 =2x7

=51 =14
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